JTn4HbIY YemnuoHaT J/lnneukou obnacTn NO Waxmaram cpegu

YEHLLMH

nata:03-08.10.2020
Mecrto| Ct.HOM. |ms Peut.|Pepn | 1 | 2 | 3 |Oukun| 3b
1 1 TaTapuHoBa EneHa 1785| RUS | **|+0|11 3 3,00
2 2 LLlyknoBa AHacTacus 1542 RUS | -1|**|11 3 3,00
3 3 PybneHKo TaTbsiHa 1182| RUS |00O|0O0|**| O 0,00

n.cypba

Pegepaln

axmar

Kypbatos A.B.(BK)




JInuHbIK YyemnuoHarT Jinneykoi obnacTn no waxmaram cpeam |

Aata:03-11.10.2020 r.

1 8 |MouieHKo Anekcen 1764 | Nuneux [16ufl| 3 |6[%|5 [M|¥%2|1216|1|4 |M|%| 2 |[4|%
2 2 |Monoe Kpwui 2107 Eney |10[u|1|5 |6|%|3 |24 16|19 [4[1|1 6]
3 3 |FepaHn4yes Muxaun 2006 | Nwvneux |7 B|1] 1 |u|%|2 6]%]5 |u|%(1016(1|6 6|1
4 6 |KasaHues AHatonui 1805 | Nwvneux |8 [ull| 6 B(1[9 16|¥%| 2 |[4|0|1 |6|%:]|11[4|1
5 5 |M»oKuH Uropsb 1890 | Nwneux [1416(1] 2 |u|¥2|1 |6|%]| 3 |6|%2| 6 [4|0 |13 [4|%2
6 1 [CemeHKOB AnekcaHap 2165 Eney [1716|1| 4 [4[O|7 |6[1|9 |4|’%|5 B]1|3 |4|0
7 11 |AynnH AHaTonmit 1546 | Nvneux |3 [ul0| 8 |6(1|6 |4|0|1016]|% |14 |4|*2|15 |4|%%
8 15 |Hocukoe AnekcaHap 1347 | Nwneux |4 [6/0] 7 [4|0[156|1|14|u4|1|12|4]|1|9 6|0
g 4 |Py4kuH UBaH 1928 | Nuneux |11|4j1{12(6(1 |4 |M|%|6 62| 2 6|08 |4|1
10 10 |Yctumues HOpwid 1672 | Nvneux |2 [6/0]14|u(1|166|1|7 [4|%|3 [M|0|12]6(0
11 12 |Omenyak UsaH 1544 | Nuneux |9 |6|0|15[4[1|146|0|16|4[1(136|1(4 [6(0
12 7 |CbITHMK WMropb B 1805 | Nvneux |15(6(1|9 [4|0(1316(1|1 |4{0|8 6|0 (10[v|1
13 14 |Kpyxmanes Opui 1388 | /neux | - [-10|17|-[+|12[4|0(15/6|1 (11 [4|0|5 |6|%:
14 13 |(®dponos Hukonai 1414 | Nwneux |5 |uj0|10(6(0|11|4|1|8 |6[0|7 B2 - |-|1
15 16 |[AnkelkuH Butanui 1311 | Nwneux [12[4/0[1116|0(8 [M|O(13|u|O| - |-|1| 7 [6|%
16 17 |AnexuH Bacunui 1116 | Mwn.p-w |1 60| - |-|1|10|4|0|116|0]| - |-|O]| - |-|O
17 9 |AuKkacoB Makcum 1731 | Nuneuxk | 6 [M[O|13(-|-| - |-|O| - |-|O[- |-|Of - |-|O

Fn.cyaba




VIYXKUYMH

7.Typ | 8.Typ |9.Typ |Ouku | BH.
9 l6|1|6 l6|n|10l6[1| 6% | 45
6 lu|nl12/6|1|7 l6lo| 6 [47%
4 lulo|9 ulnl12l6l| 6 |[47%
36(1|5 M|O(14u[1| 6 45
g8l6l1|al6|1|o [ult| 6 |44%
2 6| 1 [u|n|15full] 5% | 46
13l6|1|11l6|%|2 [ut| 5 |37%
5 lulo| - |-|1[136]1] 5 |36%
1 [ulo|3 [6|%|5 [6lo| 4% |48%
- |-[2]1sl6|1|1 [ulo| 414 | 38
12[u(0| 7 |ul%| - |-[1| 4Ya |33%
11l6/1|2 [u|o[3 jup| 4 | 41
7 lulo|14l6|1|8 |ujo] 3% | 36
15|ulo|13|ul0|4 6lo| 214 | 38
1461 |10]u|0|6 6lo| 2% |34%
-1-10]-1-10]- |[-0] 1 33
-|-lo] - |-lo] - |-o| O |27%




